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function [ y ] =SS u( t , v0 )

$SS U returns unit step function

o\°

SS u( t ) retutns the value 0 for t < 0, and 1 for t >= 0.
SS u( t , v0O ) retutns the value 0 for t < 0, 1 for t > 0, $ and v0 for t = 0.

o°  o©

o\°

see also SS delta, SS r

1f nargin==
v0=1;
end

y=(t>0)+v0* (t==0) ;
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DS ookl 5 Ol jgiws 5l el (B waples dule [ UM — 3] JLKew aunlysn 450590 0 ®
n=-10:10;
sighal=SS_u(n-3);

UL JiSws 6l Jle j5b 4 0,5 o8 B 508 4y | ladiged alold 15 oo dmgy oloj logliSw (30,5 Jae gl ®

g |y 0598 plgie — 3)
=-10:0.001:10;

signal=3S_u(t-3);
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function [ y ] =SS r( t )

$SS_r returns ramp function

% SS r( t ) retutns the value 0 for t < 0, and t for t >= 0.

o\

% see also SS delta, SS u

y=t.*SS u(t);
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o\°

11 | |
\\beHction [ vy ] = SS delta( t , width) d//
\\XD $SS _delta returns unit impulse function

. .= )/
% SS delta( t ) retutns the value 0 for t <> 0, and 1 for»'s “f JL&N
- * o0
/tL

t = 0.
O

o\°

SS delta( t , width ) returns the value 1/ (2*width) for

o\°

-width<t<width, and 0 for other times.

o\°

see also SS u, SS r

1f nargin==
y=(t==0) ;

else
y=1/(2*width) * ( (t>=-width) & (t<=width)) ;

end
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S oolaiwl 5 Ol jgiws sl cwl B s les ailoe | 5[n — 3] JUEs aurlgtn aSlS g0 o
n=-10:10;
signal=SS_delta(n-3);

Bt~ 3) JiSn sl o oo &0 05 o5 35 58 & | losigos alold oo snges ey slo kw005 Joo
WS o0 g [ 0 el g adl oV oy by So a5 clg]) )y oS Ol o

t=-10:0.00001:10;

signal=SS_delta(t-3,0.1);
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%Z% i - cnd IS (lod 34 @6

P ct(time,signal,ampLim,timeLifnar : _ - . .
— gin >=4 A g b
1,FontSize ) ~ A S L
xlabel (timelLabel) ;

rep ct represents a Continuous time signal.

$XS
\l _rep ct(time,signal,amplLim, timeLabel,FontSize ) else

time: x-axis xlabel ("Time'") ;

O 5 signal: y-axis
end
% ampLim: y-axis limits(default: automatic)
% timelLabel: y-axis label (default: Time) 1f nargln >=3
% FontSize: Font Size (default: 20) Set (gca, 'fontSlze ' , FontSize) ;
% h: a column vector of chart line objects
else
% see also SS delta, SS u set (gcal 'fontsize' 4 20) ;
h = end

plot (time, signal, 'LineWidth',2) ; grid on; grid minor

if ((nargin >=3) & (size (ampLim)~=
0)) end

ylim (ampLim) ;
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x(t) = 3u(t —2) 4+ 2r(t) — 2r(t — 5)
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O
>> +=-7:0.001:7; 14 : ke i k. B
12
>> x=3%SS_u(t-2)+2*SS_r(t)-2*SS_r(t-5);
10
>> SS_rep_ct(t,x); 8t
&l
>> title('$x(t)=3u(t-2)+2r(t)=2r(t-5)$', Interpreter’,'latex’);
al
il
5 1
8 6 4 2 0 2 4
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f\hgéion
S$ rep dt(time,signal,amplLim, timel

1, FontSize )

%8S _rep dt represents a discrete time signal.

o\° o\° o\° o\° o\° o\° o\° o\° o\°

o\°

rep dt (time,signal,amplLim, timeLabel, FontSize )

sample: x-axis

signal: y-axis

ampLim: y-axis limits(default: automatic)
timelLabel: y-axis label (default: sample)
FontSize: Font Size (default: 20)

h: a column vector of chart line objects

see also SS delta, SS u

h=stem(time, signal, 'LineWidth',2);

hbase

h.Baseline;

hbase.LineStyle ;

88 39,0l g oSl

if
0))
ylim (ampLim) ;
end
1f nargin >=4
xlabel (timelabel) ;
else
xlabel ("Sample'");
end
1f nargin >=5
set (gca, '"fontsize',FontSize);
else
set (gca, 'fontsize',20);
end

grid on; grid minor

end )ywmﬁ)_uw9bdm

((nargin >=3) & (size (ampLim)~= C///

JUSw (lod 30 e“f



O
e o 1 (] = uln + 3]+ 361 — 2] = uln — 4] S b iy shadiy e ®

o8 sl —5 <N <5
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O
>> n:-5:5; ) x|n] = uln t 3) 4 .‘hlci'f'[.'i' 2.] 'ui-'i'" 4)
>> x=SS_u(n+3)+3*SS_delta(n-2)-SS_u(n-4); |
3
>> SS_rep_dt(n,x); =
|

>> title('$x[n]=u(n+3)+3*\delta(n-2)-u(n-4)$', Interpreter’, latex’);"’|

-~ 11y

90 39,0l g oSl IR due> i85 — o 9 LJLSw



